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o~ Function Inverses

1) g(x) =4;%x

1 3
f(x) n§x+§

~16+n

3) fln)=
gln)

4n + 16

i

5 fln)=~(n+1)’

g(n) =3+n
)
D D)= 2
—x-2
1
h(x) - x+3

Find the inverse of each function.

9) hx)=x -3

1D h(x)=2x" +3

L .

State if the given functions are inverses.

Name
Date
~12-2
2) gln)=———
-5+6
fln)= .
4 16
4) f(x)——;x—7
3 3
glx)="x-=
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gln) = >
2
8) glx)=-= -1
2
flx)=-
x+1
1
10) glx)=— -2

12) glx) =—4x+1

Period____




13) g(x)=7x+18 14) fx)=x+3

15) flx)=-x+3 : : 16) f(x)=4x

Find the inverse of each function. Then graph the function and its inverse,
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CLASSWORK
-~ . : Date:
( pBJ ECTIVE: Section 5.5—INVERSE FUNCTIONS
DEFINITION OF
INVERSE
FUNCTIONSS.. fo0mx+ 3 602 8
g(x)x-3 - g(x) = vx
INVERSE
NOTATION:

Graphs of inverse
functions...

(_ }aph the inverse:

TEST to see if
functions are
inverses of each
other:

()



Are these functions
inverses?

~ How do you .
FIND THE INVERSE
Of a function?

Find the inverse...

Step L
Step 2

Check-- (two options):

flx)= —-é—-x-;-l

»

g{x)=2x-1

Alx)=2x%-3

Flx)=x%-3
glx)=+x+3

()




Kuta Software - Infinite Algebra 2

/" Function Inverses -

State if the given functions are inverses.

1) glx)=4- g-x

gn)=4n+16
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Graphs of inverse
functions...
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TEST to see if
functions are
inverses of each
other:
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| Are these functions
inverses?

How do you
FIND THE INVERSE
Of a function?

Find the invér'se...

f(x)=2x-5 f(X)=X2H3 f(x}=2x-5

Q(X)=-;—X+g g(x)=m glx) = —x+5
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